






































































































































































































































Hyperconjugation
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Q) Compare bond length of C-ClI bonds.

Doubl bord (_(..;,Z} SoV- iF
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(@Q R- C‘ — OH + NaOH===—=R — ‘(‘I — ONa + H,O favourable
G O
S.A. 5.B. W.B. W.A.

(Q@ Ph—OH+NaOH =—= Ph—-O0ONa+H,0 favourable
S.A. WA.






Compounds which are more acidic
then water are soluble in agqueous
NaOH.

Compounds more acidic then H,CO;
are soluble in aqueous NaHCO3and
will liberate CO,gas.






Q) Neamber of compourds whidn ave. golube in
C‘Ij %Ma‘oﬂ move  acddic fren N0 a, b C
Q) aq,. Narted, b,C
(W)  both N0 B¢ NoHe 0, . C

Uy qlves £0,,(g) with Nohco, b C
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